N B B FE  #%
NE 3 RN 1) (1) ABOAHM. (%) ML AiEs s
A £ B A B (N o A B (N
R 4 E M % E sk % it % %
&l G &t 207,078| —35.4 110, 767| -43.5 317,845| —-38.5
oom (hHEA) 63, 922 —-29.0 102, 458| —43.8 166, 380 —38.9
i (7] R) 109, 680| —-38.5 6,029 -40.9 115,709| -38.6
n (" £) 2,470 -36.5 512 -30.3 2,982| —35.5
i (FLoow) 9,396 —-30.3 1,264 -28.9 10, 660| —30. 2
i (E ) 14, 050 -35.9 446| -32.8 14,496 | -35.8
I (v ®) 1,948] —46.9 0] -100.0 1,948 | -46.9
I (R 1) 0 — 58] —84.7 58| —84.7
53] Hr & 864| —13.3 2,289 -23.2 3,163 —20.7
= = 15 4, 148| -25.2 4,686 —-48.3 8,834 —-39.5
2 K I\ 0% 8, 058| —-20.6 7,502| -28.0 15,560| -24.4
f 2 Kk J5 B 122, 384| —33.3 67,792 —-32.1 190, 176 —32.9
£ x K kK 9,208 -29.5 12, 385| —-40.6 21,593 | -36.3
T R B # 113,176 -33.6 55,407| -29.8 168,583 | -32.4
" It R 2,412 -22.9 3,184| -24.3 5,696| —23.7
T d W F 42,018| -31.6 40, 803| -32.3 82,821 —32.0
™ Bl N 14,642 -24.0 32,861 —33.2 47,503 | —30.6
H oo E OB 27,376 —35.1 7,942| -28.3 3b,318| —33.7
tt B & R H 3,3b2| -28.0 3,709 -21.0 7,061 —24.5
i i I 11, 048| -50.0 8,487 -29. 2 19,535| -42.7
5% i F 12,078| —25.6 9,023 -27.3 21,101 | -26.4
® A 34, 752| —33.3 22,501| —26.1 57,253 -30.6
F oo M B 28,202| —-27.7 16,537 -23.7 44,739 —26.3
PO T A AN N - 19, 560| -38.0 14, 214| -27.3 33,774 -33.9
B S Hi] 36,200| —35.3 22,414| -31.6 58,614 -33.9
b= % i 15,800 -27.2 9,697 -22.5 25,497 -25.5
Vs 1T 23,848| —24.8 12,813| -25.6 36,661 —25.1
R % E ) 7,866 —26.0 3,801 —-25.7 11,667| —-25.9
o = 7 78,692| —29.3 39, 302| -30.3 117,994 -29.6
X% &l 19, 888| -26.8 34,072 -31.0 53,960 —29.5
[£2] J=y f 58, 804| —30.1 5,230 —-25.5 64, 034 —29.8
moor B E 26,090| -42.8 15,352 -29.5 41,442 -38.5
£ a5} 18, 740| -40.0 10, 749| -27.5 29,489 -35.9
Wt e 7 ¥ N OAi 16, 248| -30.8 9,684 -23.3 25,932 —28.1
" A& »r 9, 848| -20.8 7,366 —20.4 17,214] -20.6




NE 3 RN 2) (1) ABOAHB. (%) ML AiEs g
A £ B A B (N o A B (N
R 4 AES % IS % H) % %
e 4 s 48,552 -27.3 31,930 -31.4 80,482 | —28.9
il 4 18, 710 -25.4 9,453| -24.6 28,163 | —25.2
e I 30, 268| —33.8 16, 109| -30.9 46, 377 —32.8
£ I 7 Aij 16, 780| -46.3 10,096| -34.1 26,876 | —42.3
Ly FH i 121,786| —28.5 78,995 -33.6 200,781 | —30.6
) 8| 70, 586| —25.6 78,995 —33.6 149, 581 -30.1
O T 51,200| -32.2 o — 51,200| -32.2
ZiE I S N 38,804 -29.5 25,365| —34.6 64,169| -31.6
AN H S FE R R 28, 786| —22.8 14, 846| -26.5 43,632 —24.1
2 = v S 1] 18,990| -23.4 10, 698| -31.1 29,688 | —26.4
J2 Eil 10,414 -22.6 5,328| -27.8 15,742| -24.4
Wz 4 F 64, 304| —-30.9 38,095 —35.8 102,399 | -32.8
1 = b4 31, 358 —28.1 34, 328| —36. 2 65, 686 —32.6
+H 15 fi 3,476| -30.9 0 — 3,476 -30.9
FH &k s 29,470| -33.6 3,767 —-32.0 33,237 -33.5
= VS 7 10,032| -24.2 4,932 -30.0 14,964 | -26. 2
= 7S 4,574 -21.9 4,922 -30.0 9,496 | —-26.3
LiE i R 5,458| -26.0 10| -44.4 5,468 | —26.1
PN = N 62,612| —36.2 35,372 -34.0 97,984 | —35.4
%z H #H W 24,038| —38.2 10, 632| -32.2 34,670 —36.5
G Eal Ji 23,516| -27.4 12,700 —-34.2 36,216 —30.0
% & W R 6,730 -22.9 4,273 -31.4 11,003| -26.5
WO K R 11, 322| -58.6 7,099| -38.7 18,421| -52.7
2 [i5g 20, 104| -26.4 9,574 -34.8 29,678 | —29.4
5 R 13,808 -23.2 6, 152| -33.1 19,960| -26.6
ook Hm 11, 354| -21.2 5,093| —40.3 16, 447| -28.3
wr LIS H 11,014 -21.7 4,940 -39.4 15,954 | -28.2
o %5 R 340 0.6 153| -61.0 493| -32.5
B % 7,208 —15.1 2,622 -32.0 9,830| -20.4
F (h 4,638 —22.2 1,836 —30.1 6,474 —24.6
= K 3,382 -21.9 1,698 -31.1 5,080 —25.3
ooy i 3,136| -17.7 1,626 -27.7 4,762 -21.4
& i) 1,852 -12.3 1,556| -12.6 3,408 —-12.5
N WO EF 25,302 —-22.9 16,501 | -44.2 41,803| —33.0
7N H JE 15,828 —-23.9 13,312 -42.5 29, 140| -33.7




B = #R (N 3) (1) ABOAR., (%) Lk AR

| BS 3 A g (N w o AN B (N
R4 M % sk % 7t % %
WO E M 7,558 —-21.1 35| -70.8 7,593 —21.7
MBI 1,246 -19.8 3, 154 -49.9 4,400] -44.0
[CAN I I 670 —-23.2 0 — 670 —-23.2
(/B R E) 1,355,714 -32.0 805, 253| -33.6| 2,160,967 —32.6
(i B O#H)
ZiE I S N 13,996 -26.9 9,670 -32.0 23,666 —29.1
R PN i 10, 684| -20.1 6,361 —-26.4 17,045] -22.5
o Ak BOEF 46, 494| -23.9 26, 745 —29.6 73,239 —26.1
N 15,844| -17.6 22,834 -30.6 38,678 | —25.8
H #om AR 30,650] —26.8 3,911| -23.3 34,561 —26.5
[E] N ] 16,816 -21.2 9,099| -28.2 25,915| -23.8
1 ] 15, 232| —-18.2 8,679 —26.0 23,911 -21.2
x fn & 58,680 -21.2 31,417 -29.3 90, 097 | —24.2
PN fn 19,796 -17.6 24,998| -29.8 44,7941 -24.9
A &k M 0 — 381| —-33.4 381| —33.4
FH FZS fo 38, 884 —22.9 6, 038 —-26.9 44,922 -23.5
[P r 15 10, 148| -18.3 5,722| -26.9 15,870| -21.6
O B R 12, 144 -19.7 7,644 —26.4 19, 788 | -22.5
£ % 18,000 -19.6 8,551 | —28.2 26,551 | —22.6
w BB 42,632 -27.7 22,980 —30.6 65,612 —28.7
i [E] a 25,350 -29.0 22,481| —30.7 47,831 —29.8
A &k f 5,906 —24.5 499| -27.6 6,405 —24.7
i i A 11, 376| -26.1 0 — 11,376 —26.1
N & H K OHI 12,968 -39.1 5,634| -33.7 18,602 | -37.6
== 17 14,064 -21.1 6,895 -24.9 20,959 | —22.4
RO K HT 11,760 -17.7 5,543| -25.1 17,303 | —20.2
i N & 81, b36| -23.3 40, 498| -31.8 122,034 -26.3
Jits R 31,592 -20.9 40, 331| -31.0 71,923 | —26.9
oW E R 48, 124 -25.0 66| —52.5 48,190 —25.0
AN J T 1,820 -18.1 101| -87.56 1,921] -36.6
¥ fis H 7,084 —22.6 3,682 —23.0 10, 766 | —22.8
wOW W E 9,738 -25.6 5,069| -25.2 14,807 | -25.4
oW oL & 5,164| -27.4 8, 142| -36.0 13,306| -32.9
(L 7 & #% i) 387,140 —23.5 212,331 —-29.6 599,471| —-25.8




B = #R (N 4) (1) ABOAR., (%) Lk AR

| BS 43 A g (N w o AN B (N

R4 £ M % sk % 7t % %
(% B #)
o H a 5,254| -23.6 2,697 -18.7 7,951 —22.0
= A 13,470 -24.8 5,171 —22.6 18,641 | —24.2
s JI 5,228| -16.8 1,853 -24.3 7,081 —18.9
x5 O ¥ 4,722 -27.6 2,701 -23.5 7,423| —26.1
NOH A kI 13, 858 —-26.9 8,420 -30.4 22,278 | —28.3
INHBSEE S — 20, 120| -42.3 11,219| -31.8 31,339 -38.9
B 7N a5} 8,248| —-33.4 3,505 -27.2 11,753 | -31.7
(% E &% #H) 76,114 -31.2 41, 386| —27.8 117,500 —30.1

& G 1,818,968 —30.3| 1,058,970 -32.6| 2,877,938| —31.2




